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P102 

倒數第 5 行： τ＝
RC

1
  →  τ＝RC 

 

P123 

【例 4】前 1 行： 2 sin3t  →  10 sin3t 

 

P126  

倒數第 2 行右方： （A1sint－A2cost）  →  （－A1sint＋A2cost） 

 

倒數第 1 行右方： －A1－A2＝4  →  －A1＋A2＝4 

 

P127  

第 1 行： A2＝－8  →  A2＝8 

 

第 2 行： （ tcose4 t－ － tsine8 t－ ）  →  （ tc o se4 t－ ＋ ts i ne8 t－ ） 

 

第 3 行： （ tsine t－
4 － tcose t－

12 ）  →  （ tsine t－－12 ＋ tcose t－
4 ） 

 

第 5 行： （ tsine4 t－－ － tcose8 t－ ）  →  （ tsine4 t－－ ＋ tcose8 t－ ） 

 

P173  

下圖最右端方格內： j6Ω  →  －j6Ω 

 

P174  

第 1 行最右方： 
6

V2

j
  →  

6

V2

j－
 


